
����

- ����(IP68)

- ����: 110 kg ... 10 t

- ���	

- 	
�
�

- �� EN 45 501
 
������

- ����� 6000 ��� OIML R60
���

- ������
 ATEX 95（��）

����

HLC A1 ...
HLC B1 ...
HLC F1 ...

�
�
�

�
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��（��：$%）

M

∅ L

J

G F E

C
N

HLC B1 ...

J

HLC A1 ...

M

HLC F1 ...

∅ 16

∅ 22.2

90°

17
,2

4,
8

7,
7

∅ 3

��

&'(�

K (��)*)

HLC ...

A

D H
B

+,
-�./01 �1.76 t

HLC A1...
(220 kg; 550 kg; 1.1 t; 1.76 t; 2.2 t; 4.4 t)

HLC B1...
(110 kg; 220 kg; 550 kg; 1.1 t; 1.76 t; 2.2 t; 4.4 t; 10 t)

HLC F1...
(220 kg; 550 kg; 1.1 t; 1.76 t)

HLC B1...2345�： 67 4 � 5 8

HLC F1...2345�： 67 5 8

���� A B C D E F G H J K � L M N

110 kg，220 kg；
550 kg；1.1 t 133.4 30.2 30.7 57.7 15.4 76.2 25.4 1.7 13 3 m 20.6 M12 14,2

1.76 t 133.4 30.2 30.7 51.7 15.4 76.2 25.4 1.7 13 3 m 20.6 M12 14.2

2.2 t 1) 171.5 36.5 36.8 76.2 19.1 95.3 38.1 2.5 20.5 6 m 30.2 M20 17.0

4.4 t 1) 171.5 42.9 42.9 76.2 19.1 95.3 38.1 2.5 20.5 6 m 30.2 M20 20.1

10 t 2) 245.1 72.9 60 119.9 30.2 134.9
50

�0.05 11.2 27 6 m
51

+0.2 ∅ 32 20

1) ./01 2.2 t � 4.4 t 
 HLC A1 ... + HLC B1 ...
2) ./01 10 t 
 HLC B1 D1 ...

�� �(9�:;<)

�=01 �>?2@AB�C�D�，HBM E�34F���� HLC  B1 ... � HLC F1 ...
����GHI�J&KL2��01 �MN（67 4 � 5 8）

B4152-1.0 zhHBM 2



�!��
�� HLC A1 ...
./01 (Emax)

（01 � = OPHQR,）

HLC A1 D1 / ... + HLC A1 C3 / ...
220 kg;  550 kg;  1.1 t;  1.76 t;  2.2 t;  4.4 t

�� HLC B1 ...
./01 (Emax)

(01 � = �S + QR,) 3)

HLC B1 D1 / ...
110 kg;  220 kg;  550 kg;  1.1 t;  1.76 t;  2.2 t;  4.4 t;  10 t

HLC B1 C3 / ...
110 kg;  220 kg;  550 kg;  1.1 t;  1.76 t;  2.2 t;  4.4 t

HLC B1 C4 / ... + HLC B1 C6 / ...
220 kg;  550 kg;  1.1 t

�� HLC F1 ...
./01 (Emax)

（01 � = T, + ��&'(�）

HLC F1 D1 / ... + HLC F1 C3 / ...
220 kg;  550 kg;  1.1 t;  1.76 t

"
#$，�� OIML R60

�
��� (nLC)

D1

1000

C3

3000

C4 5)

4000

C6 5)

6000

%��
� (vmin) Emax2
%

0,0285
0.0100 (220kg;  1.76 t;  2.2 t;  4.4 t)

0.0090 (110 kg,  550 kg  +  1.1 t)

����� (CN) mV / V 1.94 (10 t = 2.00 mV/V)

���!" % �0,5 �0,1

�#�
&
'� (TK0) Cn

/
10 K %

�0.0400
�0.0140 (220 kg;  1.76 t;  2.2 t;  4.4 t)

�0.0126 (110 kg,  550 kg  +  1.1 t)

�#�
&
'� (TKC) 4) �0.0420 �0.0140 �0.0105 �0.0070

($)% (dhy) 4)

Cn2%

�0.0500 �0.0166 �0.0125 �0.0083

*�&" (dlin) 4) �0.0500 �0.0170 �0.0166

��'+ (dcr) ,- 30 min. �0.0500 �0.0166 �0.0166 �0.0122

%�.�#�/* (MDLOR) �0.0500 �0.0166 �0.0125 �0.0083

0,
1 (RLC)
Ω

350 ... 480

0-
1 (R0) 350 �2 350 �0.12

;2
< (Uref)

V

5


3
<���4= (BU)
0.5 ... 15

( UVWXDY 12 V !!! ) 5 ... 10

56
1 (Ris) GΩ > 5

7>&
���4= (BU)

°C
-10 ... +40

?8&
4= (Btu) -30 ... +70

@Q&
4= (Btl) -50 ... +85

S9�� (EL)

Emax2
%

150

S9:V�� (Elq) 100

W;�� (Ed) 300

($<�YZ�� (Fsrel) (YZ[
�� DIN 50100) 70

��=>+?，$\ Emax (snom)，@ mm 0.5 (1.76 t = 1.4 mm)

A> (G)，@ kg 0.9 (110 kg ... 1.76 t);   1.6 (2.2 t);   2.2 (4.4 t);   6.2 (10 t)

�]#$�� EN 60 529 (IEC 529) IP68

�	： =>^

C_,

C`b

�Z[ 6)

�Z[ 6)  /  \]�： ^_`®

PVC

3) ./01 10 t: 01 � = �S + +,
4) �a�A�(dlin)，bcd�(dhy) "#ef�g*h� (TKC) �i$�。 j'�2�� OIML R60 k/2l@A(*m<�。
5) n*opC4 � C6 
 HLC B1 ... / 220 kg; 550 kg; 1.1 t
6) q? EN 10088‐1

�� �(9�:;<)

�=01 �>?2@AB�C�D�，HBM E�34F���� HLC  B1 ... � HLC F1 ...
����GHI�J&KL2��01 �MN（67 4 � 5 8）

B4152-1.0 zh HBM3



HLC B ...� �： （9�:;<；st"$%���）

3
9
 -

 4
5
,5

*

6
5
,5

 -
 7

2
*

∅ 50

∅ 60

�

HLCB/ZFP/1.76 T - uQ01vw
（�Z[）x� HLC B / 110 kg ... 1,76 t:

[
_`

�����201vwy&
z52S{|/

�

* }*~�

10

Ø60
Ø50

5
4
,5

 .
..
 6

0
,5

*

2
,3

SW13

SW17

5
9
,5

 .
..
 6

5
,5

*

HLCB/PCX/1.76 t - uQ01vw
（�Z[）x� HLC B / 110 kg ... 1,76 t,
-� C6 "X2n*op：

[

_`�，Y"�Z

�����201vwy&
z52S{|/

�

� ���[* 19

1
6

∅ 80

�

�

HLCB/ZAK/1.76T - uQ01vw，}*Y~�
（�Z[）x� HLC B �1.76 t

6
3
,2

 -
 6

8
,2

∅ 80
∅ 90

8
5
,5

 -
 9

3
 *

1
)

8
9
 -

 9
6
,5

 *
2

)

4
7
,5

 -
 5

5
 *

1
)

5
1
 -

 5
8
,5

 *
2

)

[
_`

HLCB/ZFP/4.4 T - uQ01vw
（�Z[）x� HLC B / 2.2 t + 4.4 t:

* }*~�，(1) = ./01 2.2\t / 2) = ./01 4.4\t)

HLCB/...T/ZEL - _`��v�（���  HLCB/1.76T/ZELR �Z��*?）x� HLC B 

∅C

∅ T
R

Z

ZEL

a

B Y

X
e

L

DY�Y`b�� HLCB/1.76T/ZEL: 4.5 mm
HLCB/4.4T/ZEL: 8 mm
HLCB/10T/ZEL: 9.5 mm

（�-� 110 kg）

D� ���� B � C-0.1 L R � T X Y Z a e

HLCB/1.76T/ZEL
HLCB/1.76T/ZELR 220 kg ... 1.76 t 58.8 20 118 100 9 120 60 10 92 80

HLCB/4.4T/ZEL 2.2 t 71.2 30 152.4 125 11 150 100 10 113 100

HLCB/4.4T/ZEL 4.4 t 71.2 30 152.4 125 11 150 100 10 116 100

HLCB/10T/ZEL 10 t 85 50.8 214.9 175 13 200 100 12 167 150

B4152-1.0 zhHBM 4



HLC B ...� �： + HLC F ... （9�:;<；st"$%���）

HLCB/ZDP/1.76 T  Easy top - _`��v�，x� HLC B / 220 kg ... 1,76 t 
(01 �: �Z[，��： ��)

���[* 19

7
2
 ± 0

.5

80
60

max. 0.8 mm

7
9
 -

 8
7

}
*
~
�

��

HLCB/ZDP/4.4 T  Easy top - _`��v�，x� HLC B / 2.2 t + 4.4 t

76
100

}
*
~
�

1) = ./01 2.2 t
2) = ./01 4.4 t

(01 �: �Z[，��： ��)

��
（c����）

Easy top�����201vwy&

z52S{|/

�

�

max. 0.8 mm

* 34
�z�

A*

� �

ZPU/1.76T: 4x M8
ZPU/2.2T + 4.4T: 4x M10

1
2

1
2

�

B*  (= ����)

∅G

E F

D

=
=

C

B

X��

HLC/ZPU/...T - �� / 34��(���) x� HLC B 

01 �y&:

• HLCB/...t/ZEL
• HLCB/ZDP/...t

��j� MA: 
6��

HLC/ZPU/...T 

A

N
P

D� ���� W;�� A B C D E F G N P MA

HLC/ZPU/1.76 T 110 kg ... 1.76 t 3.52 t 60.5 168 100 70 16 136 13.5 20 10 130 N⋅m
HLC/ZPU/2.2 T 2.2 t 4.4 t 81.5 212 120 84 18 175 14 25 20 400 N⋅m
HLC/ZPU/4.4 T 4.4 t 8.8 t 88 212 120 84 18 175 14 25 20 400 N⋅m

1
6

5
6
 .
..
 6

1

HLCB/ZAK/1.76T - uQ01vw，}*Y~�（�Z[）x� HLC F �1.76 t

�����201vwy&
z52S{|/

�

� ���[* 19
�

�

∅ 80

HLC F

B4152-1.0 zh HBM5



C3 (OIML)  [ 
-��� 3 = 10 ]
C4 (OIML)  [
-��� 1 = B  +  �� 3 = 20 / 550 / 1100 + �� 5 = S3]

C6 (OIML)  [
-��� 1 = B  +  �� 3 = 20 / 550 / 1100 + �� 5 = S3]

-

12m

S6 6 %（ $）

--K-HLC -

12

6 6m [ 
-��� 2 = D1 / C3 + �� 3 = 110 / 220 / 550 / 1100 / 1760 ]
[ 
-��� 3 = 2200 / 4400 ]

�� �� 5： ��)*
S3 3 %（ $） [ 
-��� 3 = 110 / 220 / 550 / 1100 / 1760 ]

1 ATEX 7 1 + 21 q� FM

2 ATEX 7 2 + 22 q（¡ �¢£）

N ¤ ATEX

1.76t

�� �� 4： UVa¥ (q? ATEX 95)

4400 4.4t  [ 
-��� 1 =  A / B ]550kg

220 220kg 2200 2.2t  [ 
-��� 1 =  A / B ]

��

110 110kg  [ 
-��� 1 =  B ] 1760
�� 3： ./01

�� �� 2： n*op

C3

�� �� 3： ./01

HLC EA|}，���� [ !!! ]
���

K-HLC

�� �� 1： ¦§¨N
A HLCA

C4

1100 1.1t

550

[ 
-��� 3 = 10 ]
B HLCB
F HLCF [ 
-��� 3 = 220 / 550 / 1100 / 1760 ]

D1 (OIML)D1

C6

10 10t  [ 
-��� 1 =  B ]

[ 
-��� 2 = D1 / C3 ]

�� �� 6： r©
N ¤

- N-

HLC ��F...: 
� ����，�� ATEX: II 2G Ex ia IIC T4 � T6 (7 1 q) *)

II 2D Ex tD A21 IP68 T 80°C (7 21 q) *)

*) ª«¬­sKL®u

II 3G Ex nA II T6 (7 2 q)

II 3D Ex tD A22 IP68 T 80°C (7 22 q，x�� �¢£)

mailto:info@hbm.com
http://www.hbm.com

